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Frk 2 0FE

7% BEES EES EES 1A% 12A% LAX 2A% EEES

7 £ ¥ & B W 10,232 10,232 10,232 10,232 10,232 10,232 10,232 10,232 10,232

X ] = B 1,956 2,022 1,962 1,966 1,942 1,902 1,840 1813 1,750

7 f3 i Bl 1,013 1316 1,450 1,522 1,556 1,618 1,661

® X 1 1,395 1,578 1,670 1,760 1,772 1,794 1825 1,841 1,845

® X & E4 0.71 0.78 0.85 0.90 0.91 0.94 0.99 102 105

R AR E 516 66.9 74.7 80.0 84.6 §9.2 94.9
k2 1EE

7BX 8 A% 9AXK 10BX 118X 128X 1AX 2BX 38X

z %= ¥ & = B 9,873 9,873 9,873 9,873 9,873 9,873 9,873 9,873 9,873

X ] E H| 1,938 1875 1,845 1,756 1,736 1,654 1625 1,600 1,597

7 T & B 739 976 1,070 1,189 1,279 1,385 1,499

X X B 943 1,003 1,051 1,167 1224 1,285 1,346 1,390 1,473

K X [ # 0.49 0.53 0.57 0.66 0.71 0.78 0.83 0.87 0.92

N 40.1 55.6 62.0 71.9 78.7 86.6 93.9
Frk2 2FE

7H% 8 A% 9 AX] 10AX 118X 128X 1AX 2A% 3B%K

z 2= ¥ & = 10,000 10,000 10,000 10,000 10,000 10,000 10,000 10,000 10,000

X ] 4 # 1,874 1,844 1,848 1,798 1,776 1,751 1,713 1,678 1,637

[ T & # 792 1,033 1,192 1,320 1,388 1,472 1,565

X X B 873 991 1,081 1,181 1,260 1,309 1,349 1,431 1,450

ES X [ E4 0.47 0.54 0.58 0.66 0.71 0.75 0.79 0.85 0.89

#E W TEE 429 57.5 67.1 75.4 §1.0 §7.7 95.6
Frk2 3EE

7A% BIEES EES L0AX 1A% 128% LAX 2A% 3EX

2 £ v & B X 9,581 9,581 9,581 9,581 9,581 9,581 9,581 9,581 9,581

ES ] E E 1,866 1,862 1,858 1,831 1,828 1,778 1,695 1,664 1,627

[ f:3 & # 792 1,056 1,216 1,306 1,380 1,461 1,555

K X 1 936 1,091 1,1% 1,267 1,309 1,347 1,393 1,467 1,478

® A & E4 0.50 0.59 0.64 0.69 0.72 0.76 0.82 0.88 0.91

N 426 57.7 66.5 735 814 87.8 95.6
Frk2 4FE

7% 8 A% 9AXK] 10BX 118X 128X 1AX 2AX 3B%K

z = ¥ & = 9,913 9,913 9,913 9,013 9,013 9,913 9,013 9,013 9,913

X [ E | 1,990 1,974 1,957 1,893 1,898 1,851 1,753 1,691 1,645

[ T & & 774 1,064 1,237 1,319 1,403 1,506 1,588

X X Ed 951 1,109 1,183 1,267 1327 1372 1,414 1,481 1,495

X I [ E4 0.48 0.56 0.60 0.67 0.70 0.74 0.81 0.88 0.91

N 39.6 56.2 64.6 713 80.1 89.1 9.5
Frk2 SEE

7% BEEES EES L0AX [EUEES 128% LAX 2A% 3EX

7 % ¥ & B W 9,450 9,450 9,450 9,450 9,450 9,450 9,450 9,450 9,450

X ] = B 1,859 1,882 1,825 1827 1,792 1,724 1,660 1611 1,610

[ E & | 742 1,048 1,223 1,346 1,437 1,510 1572

X X B 1,068 1177 1,281 1,429 1,483 1,513 1,554 1,585 1,604

x X & Eq 0.57 0.63 0.70 0.78 0.83 0.88 0.94 0.98 1.00

N 40.7 57.4 68.2 78.1 86.6 937 97.6
Frk2 6 FE

7% 8 A% 9AXK 108X 118X 128X 18X 2AX 38X

7z £ ¥ & = X 9,601 9,601 9,601 9,601 9,601 9,601 9,601 9,601 9,691

X ] E H| 2,038 1872 1,854 1,856 1,868 1,857 1,827 1,800 1,795

" T & B 983 1,286 1,465 1,554 1617 1,708 1,763

X X Ed 1393 1,549 1,678 1,816 1,858 1,898 1,054 1,973 1,989

X X [ E4 0.68 0.83 0.91 0.98 0.99 1.02 1.07 110 111

N 53.0 69.3 784 83.7 885 94.9 98.2
Frk2 7EE

7% BEES EES EES 1A% 12A% LAX 2A% EEES

Z £ ¥ & B W 9,469 9,469 9,469 9,469 9,469 9,469 9,469 9,469 9,469

X ] = B 1,822 1,798 1,763 1,737 1733 1,735 1,723 1,712 1,604

SEEWRHE A ZE 1,379 1382 1,338 1,344 1323 1323 1,300

2] T & # 979 1,296 1,433 1,505 1,568 1,644 1,678

SEERHEAE §| 705 954 1,082 1,141 1,187 1,261 1,355

x X B 1,663 1,835 1,973 2,087 2,129 2,165 2,191 2,209 2,217

x X & E4 0.91 1.02 112 1.20 123 125 127 129 131

R AR E 55.5 74.6 82.7 86.7 91,0 6.0 99.1
Frk2 8EE

7% 8 A% 9AXK 108X 118X 128X 1AX 2BX 38X

z = ¥ & = B 9,634 9,634 9,634 9,634 9,634 9,634 9,634 9,634 9,634

X 5] E B 1,922 1,935 1,618 1,916 1,875 1,881 1,830 1,816 1,813

SEE R A 2 %I 1,461 1,499 1,482 1,481 1,434 1,433 1,383 1372 1,374

[ T & & 1,125 1,402 1,561 1,637 1,683 1,756 1,798

SEERRBAE %1 806 1,019 1,151 1,04 1,251 1323 1,361

X x 1 1,943 2,055 2,173 2,248 2,290 2,321 2,351 2,370 2,376

® X & E4 1.0 1.06 113 117 122 .23 .28 131 131

N 58.7 732 833 §87.0 92.0 96.7 99.2
Frk2 9FE

7H% 8 A% 9AX] 10AX 118X 128X 1AX 2A% 38X

7 %2 ¥ & =B X 9,370 9,370 9,370 9,370 9,370 9,370 9,370 9,370 9,370

X ] S # 1,830 1,809 1,791 1812 1,805 1,801 1,804 1,789 1,785

EEELEL EELE| 1,385 1,345 1,333 1,365 1,349 1,354 1,355 1,345 1,343

[ E & # 1,202 1,449 1,564 1,636 1,680 1,741 1,775

SEERRBA LS 871 1,048 1,142 1,203 1,241 1,302 1,335

X X B 2,1% 2,352 2,450 2,524 3,569 7,583 2,595 2,606 2,609

ES X [ E4 120 1.30 137 139 142 143 1.44 1.46 1.46

BE W TETE 67.1 0.0 86.6 90.8 931 973 99.4
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